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1. Given below are two statements- one is labelled as
Assertion (A) and other is labelled as Reason (R).

Hrer 2 afveas fgd U € 3O @ U@ wad
(A) 3t gmm A& (R) @1
Assertion (A): Culture encompasses life style

values practices and goals which provide,
distinct identitics (o the pm lc and communi ity.

TAT (A) TRt T

Reasons (R} Culture alnavs' ac‘h as a
comlramt in the gnmth of a tommmm

(R) Eﬂ &

In the Ilghl uf the nba\e two statements choose
the correct uplmn '
Ieh AT HEAT | o= W TEd gy W e
@ i)
{EJ Both jA) and (R) are true and_(R) is the
(correct cxp!analmn of (AY3IT 2FT Tel & 3
N T
(b) Both {A) nnd (R) are true and (R) is not th:.
correct Ltpl;mntmn of (AY(A) %R]
T € 3 (R), (A) F T = T
(c) (A)is true, but (R) is false
(A) T8 & (R) T & .
(d) (A)is false, but (R) is true/(A) TeT & (R) T4 21
Ans, (c) : (A) T & T (R) 7o § Fa e Tqad
% feemr ¥ ST A8 S 8

2. Jensen's level 1 and level 11 abilities can be best
understood in terms of which of the following?

foraferfaw # & form afds @ Siwa & @ 1 3R

2 WUATT ! WATAW aiieh ¥ THHRT T Wahal gl

(A) lel'r.uhy and complexity of tasks

@ 3 3R Afzem

(B) Socmccnnnmn: differences/amitsm anfds 3

(C) Racial differences/@iig 3im

(D)} Geographical differences/ e T

Choose the correet differences/ T8l faaey gfvu-

(8) (A), (C) and (D) only/F7e (A), (C) 3T (D)

(b) (A), (B) and (C)Oﬂlyﬁﬁﬂ (A), (1?‘-)3'fIT (€

(c) (B),(C) and (D)onlylﬂﬁ_'f (B), (C) ¥R (D)

(d) (A). (B), (C) and (DY (A), (B). (C) 3 (D)
Ans, (b) : 978 & dfg fagm W wfas s &1 @@
& A T 81 3 B (b) T8 8

3. Arrange in sequence the network_of auditory
pathways/$raat & Aeddh =

(A) AuditryNerve/sam df
(B) C:lchlﬁr Nuclei/@fFam 25
[CJ SUpLI.'I.UI' (Jhw.sﬂj‘flﬁ'-ﬂ s7fersn
' "(D') Lateral Leminiscus/®123@ wifafasg
. {E) Inferior Collicul /FHita Feiagel
*(F) Medial Geniculate Nuclei/fifege Sfgee ==
(G) Primary Auditory Cortex/Sgqdl %G1 &ide
Choose the correct sequence:/TET T & ST i
(a) (A), (C), (B), (D), (E), (G), (F)
(b) (A), (B), (C), (D), (E), (T), (G)
(c) (B), (A), (D), (C), (G), (E), (F)
(d) (F). (G). (E), (D), (C). (B), (A)
Ans. (b) : 3 = f =i 8@ @ 37 UF 8@ auem
£ 91 S SR € &1 56 5e 3 o e g
4, Which of the following explains the tendency of

trails that are cncoded on  the same
chromosome to be inherited together?

wauil wm @ ygha @
e Wl ¢ fwed oo sd wmeEm W
FHea oer & B fF wo-wg wrelt i &
SIEY
(a) Mitosis/frzifea
(b) Meiosis/frITEg
(¢) Linkage/fa
(d) Gene expression/sia aifweafe
Ans. (¢) : @ HA [ G0 @14 € 396 UF W9 av
o1 91 WA e € 81 39 w2 & foide @ed 6
5. ‘Which are the two basic leatures of Schema?
@ @ 2 o d
(A) Influencing memnr)fl'-tjﬁi 1 yafad a2
(B) Promoting forgetting/fremor &1 agmn & &)
(C) Resisting change/aard @& fay =t 2l
(D) Promoting change/a=cd &l g0 Coif |
Choose the correct upliun:fﬂﬂ fawea ﬂf-‘-ﬂ{-
(2) (A) and (BY (A) 3T (B)
(b) (A)and (C)/ (A) 3 (C)
(c) (A)and (D) (A) JT (D)
(d) (A)and (CY (A) 3T (C)
Ans. (b) : T TG F1 y9ifaa 0 2 a9 T9Y B A
ftadi @ i Sl €

6. If you move a book from your desk to a shell,

you know the form of book is not changing If
may be beeause of which of the lfollowing?

ol A I ¥ A RE gEe w 3are
Wew § TEd § @ W § R g &
e W @iE gitadT =&l e a8 frereia
T Reaas wreoT g £72
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(a) Linecar pcrspcctivcfl’ﬁl’ﬂ Lt

(b) Relative size/ATHAE

(¢) Shape constancy/FR R

(d) Size constancy/ATe fewar
Ans. (¢) : mﬂrumﬁmm I a5 @ 39 0o
R H € FE & e 3w §)

7 The core cmphasis  of  developmental
psychology is represented by which of these

scts of pairs?

fa é & wnan A fasmarers wAifaae @t

e srauTen @t yelfe faar s -

(a) Individual v/s shared and stability
change/ T T I

(b) Young v/s old and stability v/s change

T g% oM o oA |

(¢) Individual v/s shared and young v/s nld ’
afth T W 3 Zan 3w gfg o

(d) cross-sectional v/s longuudnml ;u'ld self
esteem v/s self doubtféﬂﬁm 'iﬁl'l':‘ wEad 3
SCTEEA 9710 3 HEe,

[Ans. (a) : mﬁamm;m?@mmmﬁ

vis

P!

|
owing

8. Choose the correct sequence of events f%l
prolonged stressiEia !mru & i
B A LA -

A) Corlicoltor rcltas:n factor

i %ﬁrfiaa'rzrﬁ'rﬂzm L2ICS Eﬂﬁg

(B} Adrirlb corticotrophic hormone

(C) Corlisol/@fara

(D) Immune suppression/SfiET &0

Choose the correct option/wét frsew g
(a) (A).(B),(C).(D) (b) (D),(C),(A).(B)
(c) (A), (C), (D), (B)  (d) (B),(C), (A). (D)

[Ans. (a)

9. Dr. 'X' as a therapist felt a sense of complete
understanding towards a father client, whose
children behaved exactly the way his own
children used to hehave, This is

= X T U Wyl fuar & wiw
T AW @ Wegd e, frod wea e
f&m?ﬁmwaﬁ'm"'&w i‘ra:amaﬂ% e r o
FHG YA Tl TS AT T &-
(n) Empathy/Swrpqfa
(b) Jumping to conclusion/¥a frerd famma &
(c) Warmth and genuineness
Fiewdl Td §9 T (SAEN)
(d) Sympathy/Ferafd
Ans, (0) : 3 o] I € |

& {1 N a9z W8 A I e
¥ g AW 7§ % wded A dd o wm
0 TEE A €, 3 T8 T F I T 2

10.  Suler's (2004) concept of "Online Disinhibition
EfTect" is characterised by/gei0w (2004 &R
oS TasgsT il gynar =i |ehel &-

(A) Anonymity Tl
(B) Accessibility/5gd

ey 7= aETE

(C) Hierarchics negation/Sed SHEAT
(D) Easy escape cunscqucncq.bfm i afcom

Choose the correct option: il ﬁm?ﬁq
(a) (A) and (B) only/Fd5 {A} (B)
(b) (A), (B)and (QVARI(AY. (B) 31 (C)
(€) (A). (C) and (DYFAS (A), () 31 (D)
(4) (A), (B) ag@D)/ (A), (1) 31 (D)
[Ans. (c) -
11. (Jcrieﬂliunal-digiml or Gen-D factor
- Ul Gen-D &
{h) p%nams to reversal of power hierarchy in
% “erms of digital technology GEZIE A
Hay 7 vfE RIS & H Hdg
(B) pertains to imparting knu-.\lcdgc downward to
unger gcncmtlom’gﬂ'l A F A WA w
L ErA
(C) calls for psycho education of parents and care
givers on digital technology usagc/ﬂ?ﬂ
1 HaE EF-FI d WEe
(D) calls for the adolescent
digital lechnnlnu) usage/[efiea

& fow farom =1 gerfewn & 95w
Choose the correct option/agt fasea -
(a) Only (A)&ad (A)
(b) Only (By/&aw (B)
() (A)and (C)(A) FR (C)
(d) (B) and (D)/(B) 3R (D)

o

h

wchncducalinn on
[}

[Ans. (d) |
12.  Maich the following types of memories with
their features:

YRR i wgiaat s I favrganadt

& Wy firemgu-
(a) Non-declarative (i) Type of declarative
memory memory containing
| TR T general  knowledge

of language and
information/
g 1
T W formm
il SRy
| T F 2
Type of declarative
memory conlaining
personal
information not
readily  available
with others/
HEUTHE &l
san forpi =@t
g @ & e
ﬁ1%11:, IuTr=T T B
I
(iii) Type of LTM for
skills, procedures
habits ete/ LTM =1
SR, &TATa, Wieeen
IR I R &
feme

&

-

(i)

(b) Echoic memory
|20 e

(¢) Semantic memory
/
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(iv) Auditory sensation
lasting anly for 2 to
4 scconds/ HavT
FEIEFI W a2
4 TEvE 1 @
Enid

Choose _the_ correct option from those given

below:/Arer fau w1 o ﬁmgr?iu

() (A)-(i), (B)-(ii), (B)-(ini), (D)-(iv)

(b) (A)i1), (B)-(iii), (C)-(iv), (D)-(3)

(c) (A)-(iii), (B)(iv), (C)-(i), (D)-(ii)

(d) (AX{iv), (B)-(iii), (C)-Gii), (D)-(3)

(d) Episodic memory
/AT wfa

et

Ans. (¢) :
ta}ar!immaqﬁ{ (iii) LT\{ﬂm T, Wiehdl
et 3nf & fera
{w}mwmm
mnrﬁmméu
(i) SroTE HT( 0w Y
fri qu:;qmﬁ R oatrmr
A T o e’
(mmmmugﬁmmﬁm
AT, EE B 8 3
wﬁmmmqﬁﬂﬁm

In what sequence ihe Social Combination rules
are followedfor, ].g;nup success?

WU W AHAAr WY waraT fraw

form T o rqurtera m e E-

(o) Addmu. dujunctm. compensatory, conjunctive

(b) Addjti\'e wmpcusatory disjunctive conjuncitye
AT, , IHYH, WA

(c) DIS]IJBC!I\-’L CBI‘I‘I[ILHSMO!’L conjunctive

SHTE,

(d) Compensatory,  conjunclive,  disjunclive,
additive/SIAqe, WaTSF, WY, AT
Ans. () : T8 T THOW & (60 A0S FA0A [AGH
T wE e (a) A B mn
4.  Read the following conversation and choosce the
correct optio A &

(b) wE=mETS T
(c) Fd wf

(d) sisfrE w5

13.

iy

Y

X: "I am so hungry! I am like way starving"”
X:fagaga g h3wfmeam s agu @ g
Y: "You might consider a small nutritional
snacl-: to suppress your nppellle"

Y: 9% vmag N TR & A
T @ % fom,
This is/a% &
(a) Adult-adult and child-child interaction

respectively
AT dR-g9th SR Feat-aea 3

(b) Complimentary transactions/H 9 0]

(¢} Child<child and  adult-adull,  crossed
transactions respectively/SHTl: Fodl-goar AT

(d) Child-adult  and  adult-child  crossed
transactions respectively/@7Te:  Teg-g9%F

A T, a<al IR A

|:\ns. (c) |

15.  Which of the following are the clements of

Language Acquisilion Prnctss. _ %

wTar TET m '&; ﬁnl%rﬁg?r
¥ 7 - \

(A) Phunemesﬂﬁ#fﬁ:; _.":-_:__(B.]__ MnrphemesﬂlT'ﬁq
(C) Synta f | 'fB} Pragmalics/

Choose the coprect opti’un.miﬁ Tereea 9T

(a) (A), (E)dnd (D) only/F (A), (C) 31K (D)

(b) (B), (€) and (D) only!ﬂﬁ?-r (B), (C) 1T (D)

(€)<(A), (B) and (C) anlyﬁﬁa (A), (B) 3T (C)

A&, (A). (B) and (D) only/ & (A), (B) 3 (D)

|:‘TI!- (E} I
“Eleven rural, eleven seem urban and eleven
urban students were thoroughly interviewed
and they were ranked (using a pooled sample of
N=33) for their communication skills. Which
one of the following statistical technique would
he appropriate to explore groupwise difference
in communication skills?

11 T, 11w af 11 wgh it =
T AR TehaT AT 94T IAeht S AT
& feoma 91 3% w0 weE fear mar N=33
frefafian § @ @ @ wifeea dedie wgg
MU Y 37 &1 IANH oA & [0 waiias
g §

(a) Friedman's lest/%TegAs Timm

(b) Kruskal Wallis H tesUsee dfera H vl
(c) Rank difference correlation/sF% 3 T8 Tay
(d) One-way ANOVA for independent samples/

=i & faw @ @ ANOVA
[Ans. (b) |
17. C renlml} has been conceptualised in terms of
which of the following
o forg T W gomTEE @ ard
T AT &7

(A) As person/&Ts & &9 ¥

(B) As potential/H9/=3 & &7 §

(C) As process/SiwaT & &7 3

(D) As perseverance/d & &Y H

Choose the correct option:/TE TeeT & = Ti-
(a) (A), (B) and (C) only/Fad (A), (B) 3T (C)
(b) (B), (C) and (D) only/@@s (B), (C) 31T (D)
(c) (A),(C)and {D)nnlym (A), (C) 3t (D)
(d) (A), (B), (C) and (D) (A), (B), (C) 31T (D)

Ans. (a) : TEAHEA ¥ oeleed 8 8, (oo |
F1g gl el gl

18.  Which of the following is excluded from

Berkowitz's [_ruslr:ltiun- agpression h%gulhesh?
q QEUET-
SMERTHEAT UREET= | aTey WET T §-
(a) Frustration always Icads to aggression
FUST G SETFAT 1 AR g1
(b) Social rules may inhibit aggression,
Tt fFram s & O T35 8
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(c) Frustration may result in ather behaviour than
aggression/gUST AT el A
Rl @ 9 & W e
(d) Cognitive factors can overside aggression
HATHE F A A AR 3 8
Ans. (a) : wmmﬂqﬁaﬁalaﬁm
Foa1 T w1 @ e A Fw E)
19. There are many mnemonic devices to help a

person to memorize the lists of words and
vocabulary items. Identify the correct device

uﬁ w m‘f wfa wgas wyitd =fs & U
ur arrl\‘ i I-TU!EIT & ﬁ‘-rq & Tré
ﬁl trsﬁﬁ WE T B TEANAT
(A) Categorical C luslenngf’ﬂﬂ'nq-;ﬁ HYEA
(B) Interactive Images/3i:fwars faa
(C) Recngnltlnmﬂ'ﬂﬂr—l N
(D) Pegward Sys|cmm1'ﬁré GE l'f
(E) Method of Loci/R9g 3% @
Choose the correct oplion:/a) e ﬁl'?{t[
(@) (A), (B) and (C)/ (A), @) 3T (C)
(b) (B), (C) and (DB YCY S (D)
(€) (C), (D) and (EY/ (€), (D) 3/ (E)
(d) (A), (B), (B}Jindtlilf(l\} (B), (D) 3 (L)
Ia\ns (d) [ 8=
20.  Client 5 M01° I'L‘:l"} don't have much (o say
ml’?"“ﬁ'm'] "
,,an?ra i1 ﬂ'\‘ T TR T e & [
T & (it e

Counsellor :
your foot?"

: T T WA ¢ T 3w e iy

"Dn you know you are tapping

oo & £1
Client : "No. | guess 1 am feeling some
impatience J(pause)  Even  more  some
confused......."

Tenefflt, 0 wge €, ¥ 3o add wemw

W TR § (Farae) AR A F% I@HEA ° i

Here the counselor is

Tgl Wy T §-

(a) Trying to create awareness in client

U A T A @ S W@ 8

(b) Being a little too harsh/@TgT &1 &3 71

{c) Making an effort to understand client's
behaviour at deeper level. & FdER T
TR WA & N4 & @

(d) Trying to create both n“argm:ss and der[H:r
und-.rslandlng,m EipE I | O o s T
T09F FNA E AN T @R

(b) Immunqglobins (i) Cytoxic action
(c) NK (MNational

(iii) Plagacytic action
Killer) cells/ Rt e

W (e B
(d) CD, _/(iv) Antibody action
didt 4 LCiE Eil ém

Choose thé cqrred option:/4el fa@ey ﬂﬁﬂ!

(@) TATGIN, (B)Gi), (C)<(iii), (D))

}Lw} (A1), (B)(i), (C)-(ii), (D)-(iv)
(8 (A, (B)iv), (C)-Gi), (D))

W) *(A)-ii), (BMHiv), (C)-(i), (D)iii)

{Ans(e) : (a}:E'TfQ'_‘\q' (i) SEEEE (A
N\ Ih)_vifﬂ'-'ﬂiﬁm (iv) U2t aidt fean
o). & cEm (ii) TR e
> feret Fhifrad)
(d)€rér 4 (i) Bieg aTvie
22, Given below are two statements-one is Iabelled

us Assertion (A) and the other is labelled as
Reason (R).

:ﬁaa‘tmfzﬁ T E- ua?-"f‘a‘rm (A) &
wq # wAT A @ W@ (R) & w9 0 fatew
frarman &

Assertion (A): MRI provides images of brain
activity rather than brain images

T (A): YW 3T AT3 Aikaen at iararadi o
wiafsia Yega @il & = fth WitAwn ol gt

Reasons (R): Results in MRI are obtained from
the measurement of waves that hydrogen atoms

cmit when llu.'\ are activated by radio-
frequency waves in a magnetic ficld

@ (R):TH 3T amd &
ﬁanﬁcﬁmqﬁiwﬁaman&mm
m@aﬁmmmﬁﬂﬁmmn
W E 1

In the light of the above two statements choose
the correct upmm

WAl & genTa W e g
(n) Both (A) and (R) are true and (R) is the
correct explanation of (A)(A) (R) @1
WE & 3T (R), (A) &1 el =Ame Far
(b) Both {A) and (R) are true and [R'] is not the
correcl cxp!amuon of {AY(A) I (R) T
Hé & 3R (R), (A) @ 7 2w 7 a7 2
(¢) (A)is true, but (R) is false
(A) &1 € wig (R) Ted 2
(d) (A)is false, but (R) is true
(A) T & W (R) T €

Ans. (d) : T 90 WHTIEMAN e G979 SR AR ]
I FA F 0 @R

21, Match the following clements of Immune
System with their respective functions

%ﬂmﬁl -

(a) Neutrophils (i) Field Marshalls
[T I

o

Ans, (d) : T 3T AT Tt WiEash & Hiwd @1 90 3093
93919 B T AT F ¢ 3 (R) T &1 (A) AW §
FifE un am i @ nfefafudi s Afes @
wfafEa 2t 1 e AW E
23.  Imaginal disputation by using the ability of
client to imagine is a methed of

youloc

WA &
HIEUi faang @i Ugiv & o &Ed &-
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(a) REBT/3m ¥, &1, 2.
(b) Existential Confrontation

(a) Evaluative factor/qedida S
(b) Potency factor/&Tdl TRE

AT S T (c) General factor/AMI F AN, :‘:":.
(c) Gestalt therapy Confrontation (d) Activity faclurﬁﬂh‘cﬂ s ¢
e Ans. (d) : STHIE 3T a0 H f:,uﬁm famm EIEE]
(d) Mindfulness/Semmal s N e’ FGHAT B W G B
[Ans. (2) |27 Arronge  the .following stages of moral
24.  Match the following Intelligence/Ability tests dev E|3PMQIH ﬂ-qumce of their emergence as
with the associated features an indiyi grows u
Profaftas afig/ goe wha ot oa dedfie & Prafafea dfvs
maﬁgzm .__famimmnﬁahmmﬁm
(A) Naglier Non- (i) Provides deviation (A} Morality of interpersonal cooperation
verbal Ability test 1Q N\, St Fedr @ e
e ariEs A IQwm |\ (B] Universal ethical principle orientation
BT ey T 21 NN fergia seqam
et . . I C) Social order maintaining orientation
(B) Raven's Progressive (ii) Open-end test © ( N
Matrices (Standard) g aftﬁ kit AT i T T aﬁ 35l
=1 SR ‘lﬁﬁ o X (D) Instrumental purpose orientation
X J g €T R tenl]
(HA=I3) Choose the correct option:/Ag faraew g :
(C) Torrance Test of ('il) Suﬂab]e for @) (D). (A). (B). (C A). (C). (B
Crc'lll\c Thinking® clﬁfdrcn a) (D), (A). (B).( ‘} (b) (D). (A), (C), (B)
e —— REFTW R e < {g) (%B}. (D), (C) 3ﬁti"r {r?-:[ {Eg: (D), le o
fae ey, ns. (b) : e [T ST | HG FW faE
(D) Wechsler miult "ﬂ (iv) Adult Culture Fair ai W.i’! — - - —
Inrell:geﬁqe Seale Test/aaTT m 28. :::::l:‘:lfqrhe following mn%ms of_elabor; nﬁe
TgER g, e R v i :
Chooséythe correct option from _those ;E“" (a) Remem::if of information to maintain it ip
below AT f g q forarer ge- STMfﬂmEEnqwﬁﬁmf#%mw?ér
(1) (A)ii), (B)(iv), (B)-(ii), (D)Hi) A W
(b) (A)(iv), (B)ii), (C)-(i), (D)-(iii) (b) Transferring information from_ STM to
() (A)iv), (B)iii), (C)-ii), (D)-(i) LTMAR &1 seadias &a 8
(d) (Ad-(iii), (B)-(iv), (C)-(i), (D-(ii) '{:Iﬁ‘.'[ I T=ETET
Ans. (n) 2 (a) T W= &Rl 'ff"T”T (¢) Holding information for brief period of time
(i) F=a1 & fam, 3ogm while being used/ ST & Hid aEfa &
(b) W& wrftE 4w () fer, e 1 st
(iv) TTEF m;ﬁﬁ{ Fuer i (d) Ability to focus on only one stimulus/&ae
(c) T &1 Fofa fadd wlwm @aﬁwmm%maﬁm%
X (i) Ger 37 Tl Ans. (b) : fﬂ@ﬂ Jar=mE | oAl & SAeqd SE] k3l
(d) Fer- a9 2 T (i) e 1Q wa w1 || |SEHE w6 s g g

25.  Which part of brain is responsible for

transferring information from Short Term
Memory to Long Term Memory?
1131% A guAwet & 9 wifve
offa # el & & foe aftees & o
| W I B B
(2) Amygdala/TfemTETaT
(b) Hypothalamus/
(¢) Hippocampus/fgen g
(d) Cerchellum/AREam
Ans. () : FAFTAS WA d IR F ddEias A
1 wmifte & & foe itass § Royr S frden & 21
26. The bipolar adjectives scale 'Fast-slow’
Osgood semantie differential would belong to
FHar |

in

29.  Involvement of frontal lobe in intelligence can

be understood in terms of which of the
following sequence

w0 smufed & ghg o

TN &1 & AHEAT AT Wehell §-

(a) Frontal lobe— Focusing attention
intermally— Working memory— General
reasoning /FAWA— I T HANE 20—
FRfET T — W T

(b) Frontal lobe = Focusing attention internally
—» Response selection — General reasoning/
saafa— o= @ afts = — i
A TR

(c) Frontal lobe — Short term storage —
Working memory — General reasoning

[FANASTIFA  TUE —

a-tg dafta §-

Wii—> TR T
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(d) Frontal lobe — Response sclection —
Working memory — General

reasoning/3AIG— AT THA—> FATH
A= T
I.-\ns. (rn) |

30. According to definition theory, for the
development of # concepts of an OFFICE, one

must
uftwrar frgra & AR wAfed & 4ead &
faramrm 3 forg firet & e avava B =TG-
(a) censtruct an ideal office
e Fratea @ T/ famio
(b) visit various offices/fafim Fmafedl 3t am
(¢) list all essential features of an office.
&7 it smavas fremet qﬂ*
(d) tr.malhrm aroom into office
UF F T FET § TEe
Ans. (c) : Srom FrgiA % SR qa'rd‘[m W T
foem & fou fafh & o Eﬂ?ﬂﬂ'ﬂ’ iﬁ A
Ferdiersdi &1 g aravg &6t ofp) )
31.  Which among the’ fu!l-u,‘mng are the levels of
gﬂ;ﬂ:g by Craik ’Ed Lockhart?

& sgan Prefafas & @
H TR S FACE-

{a) Symbblic Semantic and Acoustics
(b) :Pl} sical behavioral and Acoustics
L= e
(c) Behavioural Acoustics and Semantic
G, EE A4
(d) Physical Acoustics and Semantic
, EAIHE HIT AT
AI:IS (d) : mmmmﬂwwzﬁmm
t- wriifte, = 3 I
Which of the following norms suggest people

that they ought to behave? .
fretettan ¥ W @l @t 9 gard

:(':f.

32.

W

(D) Dilthey rejected the idea ofdcsm lan
femd 7 e FER = Lk
guuse the correct nphnn m'd’r m H-TT =aq
(a) (A), (B)and (C}“‘!!rl? r.nrﬁee‘l
(A), (B) 3R (Cywdne
(b) (A). (C) apd (D)aré correct
(A), (C) 3 (D) et &1
§l’!] dnd (€) are correct/(B) 3R (C) Hef gl
A] gl'ﬁ and (C) are correct
) (B) 3 (C) T €1

ﬁ’m m1~ |

(c)y
td)

, 3-& woDuring 1960s Ioffman and others criticised the

college  entrance  examination and  other
nationally administered educational tests, and

ued that
1960 & 2 TTwE= & Wiar 3 wies @
yawr wiign wd WE @ 0 A Al diye
gl = TS Wi ud W foan ar fE
(A) These favour shrewd and nimble witted
7% ot U4 FOW (G ae F 99 0 €
(B) These are over concemed with quality of
thought behind it and the expression of skill

than answer/J8 Hfifed o T
: ' # amEr IR W AAw T
= 2

(C) These favor sublle creative and more
profound pcrsnnsﬂi' A, TS vd a3l
T waft & w2 2

(D) These cary a bad effect in recognition, of
merVsT arEd & T q0 94 TS &

Choose the correct options :

Wil Tames @ wae W :

(a) only (A) is cormrect/Fe (A) Tl &1

(b) (A) and (D) are correct/(A) 3R (B) & 21
(c) Only (C) is correct/Fad (C)&@ 21 21

(d) (C) and (D) are correct/(C) 3T (D) T

[Ans, (b) |

£ fr 3¢ & saEn & wfen
(n) Social responsibility norms
HAS
(b) Reciprocity norms/TREEHA AHE
(c) Prescriptive norms/ 9IS TE
(d) Proscriplive norms/Fri¥mss S
Ans. (c) : [(S9HS W= APl & 46 40 ¢ 1% 376
&1 TR T A
33.  Which of the following statements are correct?
0 { @ v ?
(A) Dilthey opposed reductionism
fee® A Ha=arER @ g
(B) Dilthey opposed psychophysical parallelism
feerd 3 gamifas wwiaER F1 g &
(C) Dilthey rejected the positivistic approaches to

35,

Escalation of committment involves following

sequence of §

sfag & gt # Frefefes s @

e AT &

(A) Occurrence of loss/FAM & AT

(B) Self-Justification/3- Aol

(C) Strengthening by external factor
Y FAE T AT A

(D) Rational expectation of positive outcome
eI uftemy & il e

Chaose the correct option:/&#! faaea i :

(a) (D)= (A)= (C) —=(B)

(b) (D)= (A)= (B) =(C)

(c) (A)= (B)= (C) (D)

(d) (A} (B)> (D) =(C)

experimental psychology/fe@d WA
& TEATHE ad) Eaunon &

Ansé(b):ﬂfﬁﬁ#qﬁﬂﬁﬂmﬁm{h]ﬁm
|

arEtER fam
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36. In quota sampling the probability of each

element of population being included in the
sample

T #ufdn § THEN & yEE W &
wivgel & ynitrer 514 & WWTaAT §-
(a) is equal to sampling [raction
& Y & qUEL
(b) c:m be specified in advance
igafmma-rr e =\ &

(c) cannnl be specified in advance
ﬁm% prifcaic ke & {

(d) 1sl where K is the number of strata/ — '5'

wgl K =l 3 5@ g1
Ans, () ; T2 WO H T & Ndd U2 & Waao

w%mmﬁmmmaﬁrmﬁmmmﬁ
ST 2

Arrange the following in Icmmlral Seguence
ﬁuﬁ—&tga I A T o ST,

A) Establishment of I"Sychology department in
o Mysor Tlﬂff?%ﬁlhﬁ%?ﬂ &l gm:n
(B) Establishment, of Bsychoio%m;:pmlmem in
Ca!cullm T I
(C) I'.stabllshmsm of Psychology department in
Madriymad | HmTage fawnT &1 wren
(D[ Fstuhh@mcm of Psychology depratment in
Pund‘gﬂ T wfas= a%!y
(E) First Indian Journal of Psychology
AT i WH WA 9 g
%uuse the correct option:/AET fawew =1 =@
|
(a) (B)= {(A)— (C) =(E)— (D)
(b) (B}= (A)= (L) =(C)= (D)
(c) (B)= (C)= (A) »(D)— (E)
(d) (A)= (B)= (E)=(C)—» (D)
|Ans. (b) |
38. What of the following was described by R.B.
Cattell using S-Technique of Factor Analysis?

A ot Seer gHT T faveuur @t S-aedE

W oy Wi gu frefafes 0 fewe

sty faar Tar

(a) Dillerential effects of stimulus situations on
personality/ i e W fafir e

(b) Group formation/¥g fAmim

(¢) Social interactions/Amfa 3id:fwar

i Wi 79 91 AW 3 9 @ Fite o e

An%a(h] qﬂmwmﬁmqﬁmmum
e

40.

The teacher had marks for, W stlldcjm in his
class. He computed thein, meafi“and standard
deviation, Conﬂdermﬁfillat Ahe evaluation was
too strict, he pave _fve ‘grace marks to cach
student. This would

Uah 3TCATTS & WTH STUT @t & 50 frenfdai
& mﬁagl A EAE T ag;%m ferarer &
TTUTY 1§59 o uT faat
¥ e el T § I v m
2t & famaw (gm) 2 &, 3 w7 Em?
[)\} ‘Increase mean by live
Comer i 5 aiE a‘%’qﬁ gl st
(B) Alter standard deviation in an Llnpredlcled way
amaem 7iF 7 o faaes 1 9Red & amm
(C) Cl‘lill'IEL’. the rank order nf the smdcnls
fornfaat @ &Vl & F4 § fada @ S
(D) Change the skc“ncss Gl‘lht: distribution
& fawme § oftad &1 smom
Choase the correct option:/ T8 faae @1 wa= @i-
(a) (A) only/F (A)
(b) (A) and (B) only/&ae (A) 3R (B)
(c) (A), (B) and (c) only/Fae (A), (B) 3T (C)
(d) (A), (C) and (D) only/&aa (A), (C) 3T (D)
|Ans. (d) |

41.  Which one of the following statement is true
regarding the relationship of test length with
reliability and validity?

e & favasaar aar duar ¥
wHeter wfta & aren fasfefaa § 4 @ |
FUT AL
(a) As test length increases, only reljahility

improves/Sa o 7 % Fae

favaniam 2l

As test length increases, only  wvalibit
& improves/S/ %’ﬁETUT FI wEE ?17;;1 2, m?yr

e Al 81

(c) As lest length increases, neither reliability nor
validity improves. T T A | 7
1 Frvaerdam 2@ 4, 7 @ duw q 4
(d) As test Icnglh increases, both reliability_and
validity improve F wEE A H
farvam-imar vg duar g1 & a7l g1
Ans, (d) : TR F1 TS a9 fagem=mge 3 qve
& i @g g

(d) Indivicual differences among people 42.  Which of the following are the main biases in
Sl attribution process?
Ans, (¢) : X A1 &2 A HH [Qeervl J 5 AHAH 3R aﬁwﬁmﬁﬁmﬂﬂﬂnﬁﬂaﬁwfx
arife aia:fwa & s @) T T §-
39.  Which part_of neuron is covered by Mvyeli (A) Fundamental attribution ermrﬂ]jiﬂmwﬁ
sheath? L LR -g (B) Actor-observer effect/@i-3
Ll - (C) Situational |nﬂutncc’ﬂiﬁﬁﬂf‘r€( mna
(2) Whole of Axon/T0 UM (D) Self serving bias/3T HYf vy
(b) Parts of Axon/TsT &1 WM Choose the correct option :
(¢) Whole of Dendrite/J{l Eﬂﬁ‘ﬁﬂ (2) (A), (B)and (C) (b) (A), (B) and (D)
(d) Parts of Dendrites/STTE=1 & 0 (c) (B), (C)and (D) (d) (A), (C)and (D)
UGC NTA NETARF AR ffra yea-ux femer, 2019 13
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Am.gh]:qvmmwﬁv&fmﬁmmmqﬁfm
S €|

43.  Which of the following is the explanation of

Premack princlplc"
@[ Wi fagie =it =aven §
(a) A |'|rimtar_'.|r reinforcement is thought of being
related Lo an organism's survival % STafH
T 7 HEE W
a1

(b) A secondary reinforcer acquire reinforcing
value because of pairin with pnmaw

rclni'urcermﬁ a
TRV F U R i 98 WeiE s ’q’.
WA AT 2

otential relnfhrc

(c) All responses

F T8l “5--:- W

(d) More Irequenlly occurring aclivily can be
used to remnforce the uclwn) that.oeeurs less
often/¥/a: &F ard VAR AT

mmmmﬁmﬁmm

ST FFA 2

Ans. (d) ; 5713 forgid &

.....

@ FH EH Eﬂ‘-‘l TEf FHA ERE B Cin
foam s = 8 .
44. The Iur.le ﬂ ‘lew of Subjective Well-beings
holds ﬂuy( FIEAl @ AEEE q!ﬁ?
(A)" {.rqe’ hnppmcss is found in expression of
virtue/aguil @ sfrEls @ @ g
forert 21
(B) well being refers to striving for perfection
‘qofm & fore wamm’ w5 & e shas o 8
A g1

(C) subjective well-being focuses on bodily
pleasures like focus on nppctnc and self

lerests/ AT ;
gm{@ﬁmmmmmélw

(D) Well-being consists of fullilling its true-sell/
T 3 @ g & ST g €

Choose the correct option :

{a) Only (C) (b) (C)and (D)

{c) (A). (B)and (D) (d) Only (A)

Ans. (c) : WWWWWE
B3l

HOTRE W wiifs gat qa e
sfirwfadl o S #m 21
45.  Match the following types of aggression with

their description:
ey a:”r ATETHEAT @ fau o faaren @

(A) Hostile (i) An inslinctual
Aggression drive involving
T TR aggressive  actions

towards death/ TF

(B) Emotional (i) Injury in which the
Aggression goal Tsm obtain
/YTEATHS HTFTTE sam-?m:ng of value

s i

= T9 e
ey, W I A
« (il]) An act stemming

(C) Instrumental

ALQrcsswm from feelings of
Ty anger and aimed at
"\\_\ \\" inflicting  pain/T&1
\M Fd ST Y 3
= o uE | EQFI AT BI
( m Em

v o

(D) Thantos (iv) Injul‘y or harm that
JET2 is carried out [or
the explicit goal of
hurting  some  one/
i 9 @
fbar fomam 3Ew
feft @l gm0 &
faw fa @ @
Choose the correct option from those given
below : HH I & FIGH HI
(a) (A)(1), (B)-(ii), (C)-(iii), (D)-(iv)
(b) (A)-(31), (B)-(m), (C)-(iv), (D)-(1)
(c) (A)-(1ib), (B)-(v), (O)-(1). (D)-(iD)
(d) (AN, (BH(iv), (C)ii), (D)-(i)
Ans. (d) : (a) W% HHEERA
(iii) T = S e A S
§ 30 0 @ S g @ =
&al @l
(iv) T ﬂTr: @ giEa o
forman sgva fasfi @1 q@ =
& fau fean man an
(i) T FEyEE fam @3
FT YA Wi & E
(1) % A XgOG o
fred z};mai forard gy <
A 3T F 8
Areange the following in sequence as per
Atkinson and Shifrin's model of memory when
the information is prucc“ctl
forfith wgfa wfeer o

(b) STETES ST

(¢) AAfufer s
(d) T2

46.

=
mmm'@mt & AR At
wif-

(A) Short term memory/qd Frei= T
(B) Elaborative rehearsal/fawga srama

(C) Long term memory/&d @fe® wfa
(D) Attention/31@9H

(E) Sensory memory/3adl Ty

(a) (D)= (E)= (A) =(B)—=(C)

() (E)= (A)= (D) —=(B)=(C)

ol i ! (c) (E)=> (D)= (A) =(B)=(C)

mﬂa kg m'a"ﬁ (d) (D)-> (E)=> (A) 5(B)>(C)

;gﬂ [Ans. (¢) |
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47.

Match the [following diseases with their
corresponding descriptions:
T @t Ik farawor & g fiemsg

(a) Parkinson's Disease (i) Movement disorder
associated with
cognitive _deficits/
i faple i
HyE wE O OH
Hafua 71

(b) Huntington's (it) Progressive motor

l?iseascn
a

(c) Alzheimenr's
Disease/ATAFHT
n

(d) Korsakoff
Syndrome _

(1ii)

disorder associated
with severe
#ﬁmcnlinﬂ"ﬁg’fﬁiﬁ
F‘-I?ﬁ ki
TofR T wE O,
wafem 21

Progressive decling

in memofy.starting
with§elective

> fnigcmng/ﬂﬂﬁ’ﬁ

T | JFE

FIEI T AR g

A form of dementia
which is caused by
deficiency of
vitamin  Thiamine
[TATAT & UF FEL
st fmEE A
fafim € @f @
& 21

Choose the correct option from those given

below :

et fau u feraedt @ i Rreew @ wae -
(a) ()i, (B)-(i), (C)-(iv), (D))
(b) (A)-(i), (B)-(iv), (C)-(iii), (D)-(i1)
() (A)i), (B)-(i), (C)-(iii), (D)-(iv)
(d) (A)=(i1), (B)-(iii), (C)-(iv), (D)-(i)

Ans. (c) : (a) 9T T _
) TR Wﬁlﬁ%ﬁr il R g
b) EES U ii ﬂﬂmﬂﬁ i fF iR
& Eﬁeﬂﬁ' !iﬂ[ﬁwhﬁ-‘l
(c) STewTEwE T Qll)ﬁ'&ﬁﬂﬁ@'&‘ﬂﬂﬂlﬁ
§ TR §E
(d) Frai Fiw g u)wmmwmm
g A e @
§ #m &
48. "Confrontation" in Gestalt therapics involves

e §-

H 3UHAT-|IRAT

(a) What and why questions/@3T 3 T W73
(b) What and how questions/341 R F4 WA
{c) How and why qucslions.’%ﬁ 3l =i 37
(d) What how and why questions

41,

T W

Ans, (b) : T faiFE § HHA-GN 0 340 A0 FH
=R F Y99 e @6

49.  Given below are tlwo statements, one is labelled
as Asscrtion (A) and the nth&r is, lahellcd As
Reawn (R).

et 2 arew ar 111%‘3 f&ﬂﬁ Qa: Wit (A)
3T TET AW (R)
Asscrtion (A): bmlllh!w lo targm reflects the
placement  of A “ffe xible criterion and s
measured in tepms of hits minus false alarms.

(An mp &
, fora Fm! e
m ﬁtr wwmtl
Rensnns {Il) When the consequences of
makin;: a Miss are very grave, we lower the
. critérion for mmidermu samething as a 1it.
NLEIU (R): W W& Miss & @4+ @
aga 7w, v ' T sfe @ fit T &
foru aelrdt =t P we S §)
In the light of above two statements choose the
correct option : HA F FEV

o

(a) Both (A) and (R) are true and (R) is the

correct explanation of (A)(A) (R) =1
Té & a9 (R), (A) 1 T = 2
(b) Both (A) and (R) are true and (R) is not the

correct_explanation of (A)(A) (R) =
T & WA (R), (A) 1 T = 4 24
(c) (A)is true, but (R) is false/(A) Tdl & (R) 7o &1
(d) (A) is false, but (R) is true/(A) T & (R) @8l 21
Ans. (a) : [51 AT (R) T WEl 2 a4 (R), (A) &1 el

ST Al

S0.  In a newly developed adjustment inventory
using 'Yes/No' format there were some
positively worded items (Yes response
indicating, adju'itmf.-m} and some negatively
worded items ("No' response  indicating
adjustment). Test developers follow this
practice to offset to offset the effects of

®i- @l ‘Gtismﬁumq'a
ar=afaenT o

mmg aﬁrgruamma;
%maﬁmﬁﬂ?m mt-
(a) Acqu:csccnccm‘lﬂ

(b) Fn!cmg-’ﬂ!ETqu’Ff
(c) Random respondin

AGfezw &9 ° FA
(d) Socially desirable responding
7, B " T 3T

[Ans. (a) |

SI. Which of the following school of Buddhism
focuses on collective freedom from suffering
and feeling the ways of cnhghlmtnl"
Tr=tafaa

T I[EAE q
Wfge WAwar T thiga § 30 ;r% gﬁm
T TEqH AT
(1) Nirvana/fraf
(b) Theravada Buddhism/#T=a1 Tgam
(¢) Mahayana Buddhism/ A FE4%
(d) Vajrayana Buddhism/@3 ™ Faamd
|Ans. (c)

UGC NTA NETWRE TATasn 5 yga-u= fgumar, 2019
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52. Which of the following is the most common
m 0 @

anti-obesity hormone? n T

watftres [aT=1 wremr et gt g-
(a) Leptin/@fes (b) Orexin/3RfEF
(c) Insulin/ggfer (d) Ghrelinifem
Ans. (a) : @2 &WH & F2W U @EE AT S 8
T TP I R WA W R R T I we a9
@ 2|
53. Double standards of mental health with regar
to adult females-/aT%H [ & ml':rpFna:l:
TR i TE Al TTE & WHeh-
(A) depicted adult female behaviour as less
socially desirable and healthy./98 fe@m & 5

TIEE RS F FHEER W ammrrrﬁﬁ: '

sfe ot e o 8

(B) had set up barriers against the adv anuemeﬂl 0f
women in non Lmdllmnnl mlesﬂlﬁ-'ﬁlaﬂ &
TRuReE giAEEt § e ?m ﬁfmmi ATl @El
FA 2

(C) pertain to the changmg dual par';nnaln of
women in the gurrent seénario/
T WieAnE & Taey gu TaeAhe % e

(D) pcrlam lo, lit identification of the gcncml
standards: o Jwallhy behaviour with men
only./fa)wall & Had d ww awEEd &
ST i & Feamm 21

th_nst._'_jhc correct oplion

(a) @fily (D) is correct

&1 o i & wan otd gu, 39T 3 givedn
& dyaa @t uftenfun e 5 o e
TS HAT Imnfta guig § ﬁﬁﬂ{maﬁ
Ffirearn giveaT ATeHT (MAS) #iR Sou give
HieTa B Seul ST 3 uftwear @
gﬁl feran, gwer Tormes fo wg@ wa=
() Cﬂncqrrﬂ:l \.alldlly of MAS
MAs i
p— lb] Eohstruct \ahd:t nI'MA'%
C N\ W MAS # Fmim
\ ._(c] Cunvergenhahdﬂyol‘MAS
MAS @1 Fega e
(d) Lack of validity for MAS
MAS 7 Fum @t ot
[Ans. (b) |
56. A psychological currency that permits
deviation from the g;g‘up is c%!lcd "
U AT Y3 W /g | fawe @ s
&t &, wEend §-

(a) Conformity/H&gar

(b) Obedience/3mgTferr

(c) Idiosyncrasy credit/@a o

(d) Compliance/3Tq9e
Ans. (c) : T FU1 S & a8 &A1 @ S a8 =i
alis o wp e 4 e & g 2

(b) Only (C) is correct 57.  According to Decision Stage Model. how many
(¢) Only (A) und (B) are correct stapes arc comprised in taking a decision?
(d) (A), (D) and (C) are correct T WIEE & ATIEN, U T
Ans. (i : FTF TEATHT | AHEE @A dieEd o) Temat =ror yfirer i £-
a4 Fﬁﬂ'lff él £t ‘EEHT T UHoE @A & aeT (a) Three/3 (b) Four/4
fam 37 S & wAfE wfgensi F gHiEE @Ry W A (¢) Five/s (d) Six/6
T8 fean st 21 [Ans. (<) |
54. Which of the following are the motiyators for | 58.  Given below are two statement- one is labelled
helping others? & WAl A o el as Assertion (A) and other is labelled as
e Reason (R).
(A) Attitudes/ g ;ﬁﬁjamﬁﬁwf , Forerit s St (A)
(B) Empathy/ i wOmmR)E
(€) Persona s 72 Aminkin, (3 Pikmepticlly, the_ o
(D) Norms and values/fram 3 7w sde. i e
Choose the correct option:/Eg! faehea gfag AfimaT (A): IoifE v 7 ‘wmn’ Te
(a) (A), (B)and (C)/ (A), (B) 31 (C) faftrat @ arign ftomst wt & 31 &1
(b) (A), (B) and (D) (A), (B) 31 (D) Reasons (R): a pragmatic view of science
(c) (A), (C)and (DY (A), (C) 31 (D) zrrep!lsd methodological  approaches to
nowledge.
(d) (B),(C) and (D)/ (B}, (C) 3 (D) FIW (R): A E TR T A
Ans. (d) : TR0 & g FA & fau wAgh s faftres zurme @1 EER EET E
7 & _ . In the light of above two statement choose the
55.  Using Hull's theory. Taylor conceptualized that correct option:
anxiety is an emotionally based drive and IEl wmUAET & wa O wd fawew
therefore, high anxious subjects on Taylor's ﬂﬁ"{‘
Manifest Anxicly Seale (MAS) should be .
conditioned [aster than the low anxious subject. (a) Both (A) and (R) are true and (R) is the
The study verified the hypothesis. This correct explanation of (A) (A) (R) =i
provides evidence for wé 2 aar (R), (A) = T = 2
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(b) Both (A) and (R) are true and (R) is not the
correct explanation of (AY (A) (R) o1
T & Tfa (R), (A) T = e 7 2
(c) (A)is true, but (R) is false{A) T& g (R) T &1
(d) (A)is false, but (R) is ture/(A) @ € (R) |l €1
Ans. (b) : (A) FT T | & @A (R), (A) 3 Hel
SHTEAT T A 8
59. Which device is used for the expression of
different letters of a word?
faht vreg & fafirs auif & afireafs & fom
@ ot g (faftr) = war feran T &7
() Acoustics/TfEuil
(b) Acmnymsmﬂ'ﬁmﬂ

(c) Key word system/J& ¥ T&fd Py '“~.q

(d) Clustering/SgA

Ans. (b) : mefahﬁmaﬁmfwﬁafm

wermrdl gfew a8 A G I 8

60, Consider the three types nF 'im‘utlgatmn in
psyschological reserach, writicn iw alphabetical
order: (a) tunlrnlll.‘gl.lahmfnry experments; (b)
Ex post facto studie$s and (c) Filed
experiments.  Argangey, them in  descending
order in terms, of their ability to control
secondary vi (nmcc usunll:gI

auimn o fr@ o 3 yEw
ot ‘Kﬁ'ﬂﬂﬂ-ﬁﬁﬂ'ﬂ;t (a) Praifira ydrmreres
yaT\(bY TR thael wmE () 8w wErm
il waror =1 Frdfia &y & 39 §war &
3TIET 3% Ued W | saaitad eig-
(a) (A),(C),(B) (b) (A),(B),(C)
(c) (C), (A). (B) (d) (B). (C). (A)
{Ans. (a) |
61. The phenomenon where by standers assume

that nothing is wrong in an emergency ns no
one looks concerned is called

oy weAT fiad a5l et =ufs ag e oar §
R smuTeTe W w5 ot e Tl § ite aw
anr w3 ot fifea T e, Feeae §-

(a) Diffusion of responsibility/fEtEr 1 Fzem
(b) Plurshstic ignorance/ e 3l

(¢) Prosocial behaviour/SU9E =Hagr

(d) By-stander effect/aR U IE

Ans. (b) : G0lfa® SAFHT W ARG TF ol & fo (Fal

TAEE ey § Fo o Tem A8 &, 99 9w aw

freft 3= = fdfewr i 2 &)

62. According to social impact theory the effect of
majority on minority rests on three of following
facto v E &H fq @

W ACTHEAE U WWTE 3N g 3

et ut fordt aar £

(A) Majority slrcnglhﬁl@'ﬁ@ﬁ = 7fth

(B) Minority's will/srergea 31 551

(C) Immediacy/aeaT

(D) Number of Persons/&TTaT &1 T&AT

Choose the correct option:/ael faaea o

(a) (A), (B) and (C)/ (A), (B) 3T (€)

(b) (A). (C) and (DY (A), (C) H (D))
(c) (B), (C) and (DY (B), (C) 3 D)
(d) (B), (D) and (Mf{m (Di {M
[Ans. (b) |
63. Match the gwen cuncept'i with relevant
description:
T a‘:ﬁf s g it
(aLI_fB’g;omup (1) Happiness due to
P circumstances lends

O to be temporary
. because we
generally adjust
fairly soon to new
circumstances/
i & EFIT'TI

et E L
ferw gielt & il &
W @ i
# = alis 4
Hamitaa & W )

(b) Top down Llfc circumstances

FrAL BEETY

(i)

WH[Ifed il g |

(c) Happiness set point (iii) Happiness begins in
f@gﬁlﬂ? F35 P 1:|urr';l;lye:d’@ﬁ"ﬁl 2O
I A E o A
Happiness levels
are fixed anr({i%;%able
across time i
TR B fewma e
fez 3t @l B

gl
Choose the correct option
() (A)ii), (B)-1), (B)-(iv), (D)-(iii)
(b) (A)ii), (B)-(iii), (C)-(i), (D)(iv)
(c) (A)-(iii), (B)-(ii), (C)-(iv), (D)-(i)
(d) (A)-{ii), (B)(iii), (C)-(iv), (D)-(1)

(d) Hedonic adaptation (iv)

[9E favas AEe

Ans. (d) : (a) 9120 31T
(u)sﬁaqﬁrr&ﬁwﬁmqvﬁaa
Sifer & & | . )
{b) 217 == Suu)@ﬁmmuq&aﬂﬁﬁ
(c) geh Wz T2 Qv)qsﬁammgsf‘am
|
(d) q@ fagas sqges mqf‘rﬁmﬁmmw
oT% g & fau e § it
T W= € uﬁﬁzzﬁl ik
g Tt g1 a1 21
64.  Descartes argued that body and mind interact.

According to him which is the site for this
mllerachun"

& IgEw v 3w o e ww €
I ATEN W ia:fewan & == -
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(a) Pancreas Gland/37=a19rg A=

(b) Pineal GlandA-as af

(c) Pituitary Gland/drs #f

(d) Adrenal Gland/ugi=e st
Ans. (b) : ZFH & SR GHEE T § W s o
g 8 sl S )
65, The three psychologists who illustrated the

diversity of approaches to [functional
gﬁ\chnlng\ at Columbia were

TR WA e wietaar | &S
T 3 fafes SunTHl Ut ywTE BT -
(a) Harvey Carr_James_Mckeen Cattell and E.L.

Thorndike/FHaR, Sed T deal 3N €, @.
qHERS

(b) James Angell.
Mckeen Cattell/5i Ufdd, grd &l

L i Tt

(¢) E.L. Thorndike. R.S. Wood\mrﬂtnud Jnmcﬂ
Angell¥, TH. » IR ’u:a' “gead 3
ElRUEG]

(d) James Mckeen Cattell

R.S. \\'mduorl,hfa'&(

ﬂﬁm?ﬁ 3T m qn z_r.zmi

i

[. Thorndlkc and
#ew, §

[Am (d)

06. Arrnnfe Lh,scguence thc 'icunnr, categories for
'Motive{lo Avoid Success'

as given below
AEHTATY Ed aﬁ?h;m s =Rt
WEwW W Tt il
(A) Non-contingent negative consequences
HAEA TS ST
(B) Interpersonal engagemeny3m-daftrs Farm
(C) RelielTea
(D) Absence of Instrumental conditioning
S A1 arareafa
(E) Absence of others/31 #1 Nl
Which of the gn en belnw sequence is correct?
W T TE T
(a) (A)—= (B)—> (D) —+C)— (E)
(b) (B)= (A)— (C) »(E)—> (D)
() (A)—= (B)—» (C) =(D)— (E)
(d) (C)= (D) (E) »(B)—= (A)
Ans. (¢) : THEW SR W& & IFEET S0 F T
i famey 3 7 faar man 21

_Harvey Carr and Ja c%

67.  Feminist theory helped in

riraTz Rrgr 390 Herdal &t §-

{a) dealing with gender inequality
#ies srEmEm § fet §

(b) undﬂslaﬂdmg sexual preferences

A @ qEE o

(c) human growth and development
wAg gfe IR fasm

(d) gender issues/@F TEZ

68,  Beta endorphin is mnhlluml from Pitoitary

Gland during stress in apprmlmauly same
quantitics as

vivaw & <nw_ digw atg & !ﬂzr Tt
o et T i P, R w -
(a) Adrcnn comcmmplc th']ﬂﬂl’IC (ACTH)
T (ACTH)

(b) Cnmcnlmpmnlc'tsmg factor (CRF)

T I FHF T (CRF)

(c) l:pmenhnneﬂ{ﬁ'rl Leict

(d),, D\pﬂmme@ﬂﬁﬁ?
[Ansl (),
.

"-M_]'if'ich of the following would be the best

. method lor studying the relative contribution
" of heredity and enurnment"

& [y AE &
aremaT & fﬁrmft-rﬁgﬂ i ¥ wdeg ugf s
g2
(a) Comparing identical and _fraternal twins
reared mgelhcrf({iﬁ HE GH 0 HEEY o
fasfew g1 a3l 1 qa
(b) Comparing identical and fraternal twins
reared apar/HE e UifEd L]
fa3izs a=di 91 g
(c) Comparing siblings reared together and
rcan:d apart/T& Y U M U AN AT
e T A 9 aw ) geen
(d) Comparing identical and fraternal twine: half
of whom have been reared apart =
fasfes sEar a=df @ g, Rl | amdf @
Te AU 3TE STE g3 ¢

Ans. (d) : FAIET HR GRAY & WEE A &
mmmmﬁwmgmraﬁzmqa&m
&l awdl o qorn, foeh § oMl & ged W -

AT § 2
70.  Match the following leadership styles with their
characteristics:
Agea hfedi @ It favraansii @ firemsy
(o) Directive (i) Leader consults
subordinates

thereby permitting
them to participate
in decision
m.alunEFI'FIT am
s § A
IR TH FFL I
fola sfiem & wm
Gkl cunkakd
(i) Leader sets
challenging  goals
and secks
improvement in
performance/-dl

{b) Supportive
I HEED

Ans, (c) : Tiaw fogl e 3fe o fwm @1 am
ff TRIG ST w2

,rﬂ i wa T
T & 3w §

IR FE £
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(c) Participative (iii) Leader provides

AT specific  guidance Ans. (c) : ST - \ S\ 7 -
by establishing TR - TEWE- FEmm
work schedules and | 72 Which of the following afg 'thr’twn major
rules/m T4 symptoms of Alzhiemer's ducﬂsc ’
3 faaw T ‘m"Fl 3L ac—ungnfrrr%i 2 9@
fafre Frdem s g -
+T 2| (n) Neumfhnilmy mngleq and amylod plaque@.
(d) Achievement (iv) Leader establishes Fnﬁzﬂgﬂ' RECE T afr{'qﬁahg
oriented good relations with
O oidiaies rond [h) Cqﬂgzml sprnu:g_f and cercbral mchnmm
satisfies their needs ¢ 3
lcn] k| Q.':T' J\mylmd palques and ccrchral i1schemia
35 THY T 2 | Wit ufgard AR i
3 T s ' (d) Nc.uruﬁbnhary tenagles and collateral sprouting
sTaEEAE AN it Had FaE ot HOiEE S
HEF@ R W Ans. (a) : AFETE HES Idg R wEE SEE
Chuuue the correct option from the givehelow: |[3F=ET I & 21 W@ &30 4
=frer f g famedi # @ wET faerd - 73.  Choose the odd one for pattern of sympathetic
(a) (A)i), (B)-(iD), (B)-(iii), (El?b(w)— activation during emotions .
(b) (A)(ii), (B)(ii), (Chk(iv), (B)-(D) AT & G AT WhRAT & e § fawaw
(c) (A)(in), (B)- (lV)'.LC)-(ﬂ) (B)-(ii) & -
() (AXv). (B)- m (CHﬁ (D)Hiii) (a) Increased heart rale/@4 §‘5 7ad ol
Ans. 511 b) Pupil constriction/TFell @1 g
(a) Frévmems ﬁﬁﬁﬂt a—‘nf qfai #R fam amE (b) Pupil constriction 4
o fafye Y2 T (c) Increased breathing rate/¥aTH &1 § qu
(b) W, " Chiv) 3 m H Hwp Hay == (d) Lowered skin resistance/mran Sfaare #f
N o & #R I smEvEEAnil @) |[Ans. (b) : GaTeEE SERan § qiedl Ge o @ e
Y TIT FW 2 e TR a7 T 8
(c) T (i) e ¥ enfiedi & wems @ €[] 74, Which of the following correctly describe Nafs
q-fl’( T I f':WTTT nfan (Self or cgo) in bursm'
H wnn @4 @ sl e frferfaa § & @ o # A6 (@ v
(d) 35af I (i) T T i e T e @ TE) =1 WE ARt w5 §-
3it wewta & qum T@e g1 (A) It can be viewed alang a continuum
71.  Arrange the Ego Strengths in correct sequence Tg T § T@1 51 T g
according to Exickson's stages of epo (B) It is not meant to please the God
development F FH H |
g faamw & i ﬁ t[ﬁ‘m & et R (©) :3"211:[“ n?-!:-rlivc lrausﬂ?qﬁ?
¥ it ww A At CAlE LS 3 o Loy
Eﬂﬂﬁﬁ _ T T ADREE GE & aa g
(a) Hope — purpose — cometence — fidelity — (D) It has a potential to function from grossest to
love — care — wisdom — will/ 3= highest level3@H foemm =X # Iw=9aw T
TR — G S>TAAS— I TETE— % &4 F F & g
Ffamm— Tt (a) (A) and (C) are correct/(A) 311t (C) && &1
(b) Will = hope — purpose — competence —» (b) (B) and (C) are correct/(B) 3R (C) & &1
fidelity — care — wisdom/T=2TIfth— 3TI— (¢) (B) and (D) are correct/(B) T (D) W& 21
T > AN — TEASIIENA— (d) (A) and (D) are correct/(A) 3R (D) T &1
Ffawm — 3 [Ans. (d) |
(c) Hope = will = purposc — competence —=+|75.  Value of behaviour to the organism its
fidelity - love — care — wisdom/3TN—> evolutionary history and its causation in terms
ey T of stimulus. hormonal and ncurological events"
m—’ ¥ - g —> - has been area of study of which of the
m— SEAE—> afamm fl]“l}“'lllg
(d) Purpose — hope — will — fidelity — e & v wgw, s@an IgHATHS
competence — care — wisdom — love/35¥4 gﬂ[g‘m 3fl'{ ECLCE T BFEFI awmr 3
DI T > FEE- A dtma wemmd, frefafae d @ fewan
FE@E— FaTE— GR a4 §)
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(a) Evolutonary psyclology/Z2¥ales FAfazm

(d) Na” and A" ions outside the membrane have

(b) Psychoanlysis/FAFazer™! less neplive Sharee ;}%""N:f AN o
(¢) Ethology/3marfasme . W ard @ wm 4 =
(d) Instinet psychology/ @ wafa wAfas= aa K* 3k O wa= 3‘1 N\
[Ans. (¢) i | Ans. (b) : fsn'{»f] F A T Clojons
76.  Given below arc two statements- Assertion (A) | | gmars aﬁi # wm A @ e ard L'llii
and Reason (R). A ions
et am)am ﬁ‘d s t’ Afvena (A) st 78. In terms of JIil;ﬂl:ml_\.tu: therapy, the means

Assertion (A): High sensation seekers are
inclined to get involved in variety of thrill-
secking nctivities

afvmaa (A): efus Waes agT ot @
fafes g &5 Tt feanst ® wnfire

& g B 1

Reason (R): Engagement in lhrlll
behaviour Inggm the release of ¢ m

ing any attempts to probe into
of personality problems is known

‘e fafen & da W, ardee dud
T @S @AY §; TE ued @t
AU ArEAfaE WA @ Aiad @ e ot yarm
anfire g &, Fgena 8-

(a) Repression/a@ (b) Suppression/a7d

of ke the. unconscious conflict intact:
lherehasg"
TR

F (R): (¢) Denial/FER (d) Resistance/sfain
W%mﬁ:aﬁm Ans. (d) : ST & @0 oAt AN &1 A6 &
In the Ilghr of nbove m t choose the | |77 +ft sam @fum & 21

“'"'“‘ “ ﬁ wft fameg| 7% Which of the following problem solving

(a) Bnlh (ﬁ%ﬂ are true and (R} is the
co tion of (A) [M (R) =
u%v( (A) F T = )

(b) Bol and (R) are true and (R) is not the
correct explanation of (A) (A) {Rg EEy
A™ ¢ wiEA (R), (A) 31 7 2@ 76 )

(c) (A)is true, but (R) is false/(A) T8 2 (R) 7oA 21

(d) (A)is false, but (R) is true/(A) T ¢ (R)T &1
‘Am (c) : (A) W fT‘L(R}W t mafE T

technique, involves the analysis of difference
between the current situation and the desired
sct then doing something to reduce this
difference”
=

T =t wwe T e, e
wea Il wdww figfy & dfiw & e &
Tageraur @ yNTheT Sal § 3T ad 5§ T &l
T HA & fore Fo s §-

(a) Heuristics/=m: ¥9

(b) SubgoalsZTTA _

(¢) Means and analysis/sman 3it fagemo

ATl WS T IATHA W WA g (d) Brain stormingAf&es qwm (69 =ifdm)
77.  What is ﬂ'll.' reason of negative voltage of Ans. (c) |
neuron during Resting Potential? 80. Match the waves with the corresponding

@@ H e

THTHE aAlTeedr & 341 HI0 g2

ﬁedium = Na': Potassium = K°: Chloride = CT'
: Organic aniom =A-)

(ﬁﬁw = Na': Uréforaw = K*: @@mgs= Cr
strchfare i = A.)

(a) Na' and CI" ions outside the membrane have
more negative charge than K' and A" ions
inside/ Tl & W@ A Na' T CI ions #
TEUAE 914 9% W E € 99 3=
T K @A

(b) Na* and CI" ions out side the membrane have
less negative, charge than I\ and A ions
inside/f==i & a1 @ Na * vd CI jons #
T A @ W AR A & T, am
ad K'ud A ions

(¢) Na' and A ions out side the membrane have

frequencies:

7N @ IA9 defta arEreT o

-
(A) Alpha waves (i) 4-7 =z
/3@ i
(B) Beta waves (i) 14-30 Hz
(C) Theta waves (iii) B-13 11z
Lkl
(iv) 03 Hz

(D) lzelta waves
fecaalta|

Choose the correct option from those given
helow: !ﬁ'ﬂﬁﬁ‘ﬂt’ffgﬂﬁu 1 i
(a) (A)-(iiD), (B)-(ii), (B)=(i), (DD)=(iv)

(b) (A){ii), (B)(iii), (C)=(i), (D)s(iv)

() (A)-(iin), (B)-(in), (C)=(iv), (D)-(1)

() (AY-CiEY, (B)-(inn), (C)=(iv), (D)=(1)

less negative_charge than K™ and CI" ions ||Ans. (a) : (a) 3TH (i) B-13 1z
inside/fehl & @ @@ Na® vd A" ions ¥ ||(n) drer atit (ii) 14-30 Hz
Wmﬂﬂ@mmémm (c) =1 wi (i) 4-7 Hz
T K% Clions 9 (d) == 71 (iv)0.3 Hz
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Phi- Phenomenon is best seen between which of
the following time instervals?

e o frm wwardTer § waEw

Ao Wileh | 4@ AT HWehell £
(a) 50 1o 350 milliseconds/50 ¥ 350 fireft gFve
(b) 110 to 320 milliscconds

110 9 320 foeh Tve
{c) 30 (o 200 milliseconds/30 7 200 freht T
(d) 215 to 375 milliseconds

215 & 375 fireht fve

Ans. (c) : §F 521 &1 30 H 200 el 9602 & 4N
T I w0 & ST W 2

82,

Which of the following are true as per

Brentanoe's concept of l'hcnnmennlog}"
e & uﬁwr:ﬁ%aﬁﬁ HYET & AIEN f‘-'m

" & @ 1 8-
(A) Quter 01)] ects can be erl:ened only
el ey, @ sl @ m«qﬁﬁ £

(B) Mental etpcm.m:cs con be mcwed 1Jnl:,r
F9d "EES ?;ﬂ%

C) Teelings and willi ¢ ’ctlmhmcr.l in one

( Lalc.go%yfﬂiﬂil #ﬂm oM UF € 9vil 0w
& w4\

(D) Outer obl'él:L En be both perceived nnd
experiengel/aIa FwY, WA R IFE F
& ga-ﬁ 4

Choosé, llu' best option/aatvw fasea If :

(a) (C) and (D) are correct/(C) 3 (D) &

(b) (A)and (C) are contcl!(:\}aﬁ'{ (C) 7 g

(c) (B), (C)and (D) are correct
(B), (C) 3K (D) &

(d) (A)and (B) are correct/{A) it (B)y W& gl

[Ans. (c) |

83.

Which of the following are the advantages of
MRT over PET sean?

PET e w frefafas § MRT = 3

(A) Handing feelings, so that they are
appropriate/ W &1 1@ '{@ﬁ t!ﬁtﬂ) s
g 3fem e 7 g . \
(B) Abllllylo soolhe one- -self )
39 39 F Wi TE AR, ml
(C) Ability to shake’ oﬂ' mmpanl anxiety, gloom
faae  amgan

or _irritability | S,
Fae 4w
(D) Recogrg‘;}ng@uhng as it huppcnsfﬁm T €,
T T S

Chom ‘théwcorrect nptmnmﬁ fererea @t 9=

ta) *(A) (B) and (D) only/Fa@ (A), (B) 3T (D)
% (b)) (B), (C) and (D) only/F= (B), (C) 3 (D)

©) (A), (B) and (C) only/&ad (A), (B) 3R (C)
(d) (A), (B), (C)and (DY (A), (B), (C) 3 (D)

Ans, {¢) : I T ¥4 q, S g1 & 9F @ 9@l @l
T A T T e A

Match the following concepts with the
corresponding bodity states

Wyat &t I8 wattw it

avae A fiemey
(A) Rebound (i) REM sleeps
Phenomena REM g
ey gz
(B) Phantom Limb (i) Pain
2T ATT9
(C) Scotopic Process  (iii) Vision
g4
(D) Apoptosis (iv) Cell death
forTEE e g
Choose the correct optiop from those given
below: faereat 9 9 @@ faaey 1

(a) (A)-(1), (B)-(ii), (B)-(ii1), (D)-(iv)
(b) (A)ii), (B)-(i), (C)-(iv), (D)iii)
() (A)-i), (B)-(iv), (C)-(iii), (D)(ii)
(d) (Aiv), (B)-(0), (C)-(iii), (D)(ii)

e wifee §-

(A) Nothing has to be injected into the bady/¥i{R
i o e T w5

(B) Provides both structural and [lunclional
information of the same image/UH ]

T A1 WEGATE S A & 8

(C) Produces three dimensional images of activity
over the entire broin/® ;= fafendig
fer s e &)

Choose the correct option:/ A&l Taraea AT

(a) Only (A)and (B)/Faa (A) 3R (B)

(b} Only (A) and (C)/&a= (A) 2R (C)

(c) Only (B) and (C)/&ad (B) 3 (C)

(d) (A), (B) and (CY/ (A), (B) 3 (C)

Ans.
Ly

‘é” : 39w A dagd MRT & PET Sfafu @
i

B4.

According to Goleman. "Management of
Emotions” component of Emotional intelligence
includ 313'{1!’{ wHamATE

e Hai & yEus' o oniie g §

[Ans, (a) |

Match the given concepts in List 1 with
dﬁcnptmné(cn in List I1

il B mmﬁ'%gd'f I feu m
List | g=i- | List-11 = 11

(A) Turiyavasthan (i) The state of normal
CONSCinUSNess

concerned with
material world/

qﬂﬁﬁ X H
Wy A= A
& e
(B) Prajanvastha (1) Subconscious
(AT faculty concemned

with the subtler
aspects of human
knowledge and
wm.rlcncdfll:lfl Figl

‘T@'F‘fl!ﬂ'ﬂ'ﬂﬂ
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(C) Swapanvastha
[

(iii) State of super
consciousness when
dichotomy between
grossness and

Choose the correct options: I‘H’fr T i
(a) (A).(B) and (C) are correct o o\

(), B (O F &
(b) (A) and (D) are corrccugmaﬁl {D)'ai?r d

f,';:;:f;gm, e (c) (B) and (C) are garreCy( B2t () wdl &1
ST A I 4 (d) (A), (B) and (D) af¢ correct
T T e (A), nmmmma“?;u
S fewr A Rard | [Ans. (d) a\ |
21 88. Read l‘h;;l'p?lpwhg conversation and choose the
(D) Jagratavastha (iv) Steady state of ‘_,h“tq’“ W
IEpGIEE consciousness when m el @t R afe wate foree
essential nature uf W'
atman is ‘ % X- What time is it?
c\&pcm:nl:cd’ﬁ'ﬁm W X-T% @ | §?
&l fea 313}‘" S Y- 1 think it is about 9.30 A.M.
S ) Y- T fgRTa ® 9% 9.30 AM. §1
W & ADE € This is/T% &-
m %l (a) Adult-adult transaction/ddth-aaea W]
Codes: /[&2Z: (b) Adult-adult complimentary transaction

(a) (A)-(iii), (B)-(ii), (B]-{I} ’(D) lW)
(b) (A)-(iv), (B)-Giii}, (C)-{ii), (D)-(i)
(e} (AX(iiD), (BEGVYAC)-(ii), (D)(1)
(d) (A)-( ) tB)-Lat), (C)-(i1), (D)-(iv)

TEF-Ta W AT

(c) Child-adull_cumplimcnlary transaction
ATA-TAEH APE AT

(d) Child-adult transaction/aTd-aa&h HaoT

Ans. (b) : (Qiﬁfﬂﬁm (iv) T @1 frer sraean W@
3 & IS THid

[Ans. (b)

3TE & i

(iii) ¥ AT &1 3 S|
Hyvfar aan P % 49
faarsm 7 famr 2

(i) "Fa g e I &
W TEER W HAA e
Lt

W ERIEIEL]

(c) WY

89.

For becoming a good baskethall player one
must use/TdH =BT et

firu afvs @t srava wan EET )
(a) Algorithms/ e fafu

(b) Heuristics/=rgfa

(¢) Concepts/HaeaATd

(d) Prototypes/3T& QU

(i) difas dar § dEfm
MG S 3 3iaEdr

(d) ST

Ans. (a) : 9T Ahe AT (@ENS] 44 & (e [H &
TOEE 3R A § A0 O 9 s e (1) 768l

87. In the context of marginalization it is suggested

to adopt 'Social Empowerment Model' while
dealing with LGBTs because

uiydiantur & Hed § LGBTs & wra fged aw

AT OIS WIS AiEe @t Weg o

T & TifeR

(A) it increases this group's collective and
pcrsnnal self advocacy/@® wqg & =Afehd

3 amfes s o S T

(B) they learn that they can lead ' I'ull'1lmﬂ and
satisfying" lives/d di@d € fF @ w 'q}'f
Tiae e 9 T 9 .

(C) Concerns about [("BT-. are social concerne
and not the concern for individual/@ fda
urs i faa & 7 f =i 3

90.

Y has concrete experience and a reflective
observation as dominant learning abilities.
views  concrete  situations from  different
viewpoinits has broad cultural interests and is
imnginative and emotional Ilis experientinl
leammg style is

& gd a3 yearadi dam @ garEt
azﬂmw grem 3 = i o w ferferat
=i faftra afiet & JEar § & o wivglis
wWeaAEAT A Hames  fgw €1 €T
srvaTee sty et -

(a) Assimilating style/SATTHAATT el
(b) Diverging style/3Tmdt ¥ieft

(c) Converging style/aferarft Freft

(d) Accommodating style/feram et

(D) They realise that being gay or lesbian is not a
pathological condition/d WegqH T

fy ||l s F ¢ A 9 o @

wwatnE g @ S w6l 2

Ans. (b) : 37T IR H Y & IS AT el

& FE WL
ZEA 3 wE )
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Read the following paragraph and answer the five |92,  The above information suggests that
questions which follow : Ivh AT | WA AT Hﬂﬂ"ﬁﬂ 'cﬁl?ﬁ tfn
The experimental psychologist wanted to explore (A) the gsump“un of hnm%mmw ofeovariance

whether the noise adversely affects the reaction time matrices is not satisfied/ % \ \ofeadf e 2
(RT), She also wanted to explore whether the stress level

would moderate the effect of noise. She varied noise at Q;ﬁ WA f'h T T E s,
three levels, low (30 decibels), moderate (60 decibels) (B) the m‘:umptlnn or_ amog.cncl 0 cma;élancc
and high (90 decibels). She varied stress at two levels- matrices is satisfied ¥ i 1 TE
low and high. Form the initial pool of college students. w1 i ST HArwE #

subjects were randomly assigned to dilTerent groups. (C) covariante mang Dependent Variable (DVs)
However, a ninety seven subjects participated in the afg ZerOfTTAT T % 9" T QFTE-‘I
experiments, Each subject in each group, was tested for (D) thg uss'ump:mn of homogencit nf variances

simple RT. disjunctive RT and choice RT. The theory s “hot tenable/H8

and preliminary analyses indicated the three types of RT '-L- | Stauron @6 i T8 o
were moderately correlated. The covariance matrices, s

showing the co three types of RT were moderap;ly i"\"s (b) |
correlated. The covariance matrices. 5hgw|ng the ! 00 tﬂ_.}. Which one of the fli“[l“'il‘lf_', reason bhest juﬁliﬁtﬁ

variances among the three types of RTs. were found 10 the application of MANQVA in the present
be quite similar for all the groups. group diffefence in work -’ﬁhﬁﬁ*ﬁﬂ'ﬁ W EA WO
means. As the most common practice is Fuurtcst;htena wd # MANOVA & HEH?J’ITI @ Al
(Pillai's criterion. Wilks criterion I[o!‘e}llng's scriterion ATTET SEAT §7
practice is. four test criteria [Plll{:}s cuicrion. Wilks (a) There are several groups and more than one
ceriterion. Hotelling's criterion afigd y's cnlcnnn) were
obtained Among the differefit; 1'estzl[<ir Obtained in this guge;%‘;.l g}agl.féllvwﬁ w b € 3t
work. one inleresting finding was thal the stress .
?ﬁ%icrulcd the effect nfm%lmd on reaction time. (b) rﬂﬂllhﬂn nnll- D‘.pmdcén anugﬁg_(lb?\l/i}i
m- T w m E ave '[CL‘['I cmp 0}'(.'1.[}" U aEEEﬁ (

W?QT"I faﬁ e 1 3w fE 1

(c) More than one Dependent Variables with
ST q:lﬂiﬂﬁﬂiﬂ(ﬂm e wed 4 et § maderate  inter correlations, have _been
mﬂ&ﬁﬂmmmmﬁlaﬁqﬁ‘ﬂﬂ cmpbymﬁa}ﬁﬁﬁmmqﬁ;ﬁm

A T & 5 T TG A G @ F I @ Ao

anfya =i 1 Ivam faHar @
mlmﬂﬁaeﬁ:mmmﬁamﬁnon

(d) The mndcmlmg effect of stress on the effect

E.'ﬁ‘-lﬂ?-l) men (60 EfEee) wE e (90 EfgEe) | IR of noise on RT can_be demonstrated only
mmmmuﬁwmmﬁmww thrnughMANOVi\mﬁ!ﬁ"ﬂT e W oEH &
7 Agfes w1 § w A R o 3w s woE @ dgfem w6 # o @ gme #@
1 &) s | wanTemen # J@ o0 Wl F« Gl THIE MANOVA ¥ 200 #1 arn a1 et 1

G FArEl A S A e s wR 5 | [Ans. () |
W | oame sl Fm@, e shfen s @ aqﬂ‘d_{ 94, The design employed in the above study can
a9 wfafema Fe %ﬂ i fFr T difs best be labelled as
Wi fverm zvim @ f5 sRfem F@ § 49 WER I A H yaw yanmes A @
We F W WER w3 wewRad afaa @ dif TSy i W forar 1w 87
3 2 & &7 w=Er 5 sfife @@ & 9 i @ (a) Randomized m“%ﬁup dm:gn with single

IR W 6 4" A wE @ @ 5w F factor/TH FH
agyftafd faveamm (MANOVA) & wRomil a1 ofiwe e o
AT WYl & WA o O e & o R (b) Balanced factorial design
T AR WafeR uiEm F W 4 AeEE f (e @ e FEE A
HYE) 98 W R Mo 39 Fm 8 v fafi oo & (¢) Unbalanced factorial design
. R L S SOR S L S 4T P O () Unbalanced factorial design with at
miﬁmﬂﬁlﬁwaimﬂﬂ‘ﬂﬁﬁﬁmél nbalanced factorial design with a covariate
91.  Which of the following test criterion is more il e B A
appropriate than the others? |Ans. (c) |
ar=i ﬁﬂ?ﬁﬂ T Py=fafas Tlﬁ'&TI‘IT 'Hmff W({95. Which one of the following conclusion can be
watfirs IUgw T o R? confidently drawn from the above study?
(2) Roy's crilerion/TT F A9E0E sl mﬁ L“I e EE%I \ =
(b) Wilk's criterion/faw® @1 AmgEws SRk Fehdl .
ine's Criterion/a2feim . (a) Main effect of noise is significant
(c) Hotelling's Criterin ?J RILEES @ & T ¥ WA 1
(d) Pillai's criterion/freerd @ wde

(h) Main effect of stress is mgmﬁcanl

[Ans. (1) | T F T T T
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(c) Noise x Stress inleraction is significant
@ x e & Fa:fEmm T 8
(d) The main effects of noise, stress and
interaction effect are suznlrmnrfﬁﬁ LERGEIG]
w e ¥ sihn mdE
l.r'\ns. (c) I
Read the following paragraph and answer the live
questions which follows:
A leading business school in the cng had a view that its
students must have a good proficiency in English
language usage. As an initial step. the school authorities
decided to develop a brief language usage test. The
project in charge wrote 30 items. Each item had five
alternative answers. one of which was correct.
administered these 30 items to a sample of 250 students.

For item analysis, item remainder correlations \wré'_ﬁ

computed. The item analysis retained 25 items. The
twenty-five item version was administered to_a fresh’
sample of 300 students. Three reliabilit coefﬁmentq
were computed spht-half reliability coefficieni. Kuder-
Richardson (K.R) reliability coefficicht and, Cronbach
alpha- were computed. The Cronbach-alpha was found to
be 0.7. The test retest reliability ‘was alsb computed with
a time-interval of eight weeks. if, (W6 administrations
using the same sample. The'est-Tetest correlation of
eight weeks in two adrinistrations using the same
sample. The test-retest.comelation was found to be 0.26
signficant at .001 level5The school authorities, pleased
with the efTorts of the frm ject incharge, asked him to add
similar itenis and Ugvélop a 75 item verson.

96. "rl'hl,- aiwve information provides an evidence
or .
I Yo RAY YRR T W WEE et 62
(A) Unsatisfactory test-retest reliability
ATHATTE Tl
(B) Satisfactory test-retest reliability
Temas qieT- o)
(C) Acceptable internal consistency reliability
- EFI"]HHT
(D) Unace l:.'.l:-}e mlemal consistency reliability
Choose the mrrm nplmn_mi.‘rﬁmwwﬁ-
(@) (A)and (C)/ (A) 3T (C)
(b) (A)and (D) (A) 3T (D)
(¢) (B)and (CY (B) 3T (C)
(d) (B) and (DY (B) 3T (D)
[Ans. (a) |
97. Given helow are two statement- one is labelled
as Assertion (A) and the other is Iabelled as
Reason (R).
e 2 g ¥, ol & W
siftEa m}aimtr afr{qsﬁaﬂ (R) 10T &
w1 Tafzga foean mar &)

Assertion (A): The computation of K-R

reliability is questionable in the above study
(A): 3™ mET ® W

& ufteer HeEreg £1

Reason (R): K-R reliability is suitable for tests

with dichotomous items _ )
(R): fafweft wadl @@ whaoii 9

IUG &

He

In the light of the above two slalpments choose

the correct uplwuv
Ik ST ATHRTAT uftir&a ﬂ m& ﬁm =

'am:ta;{
(a) Both (A) and (R)eard, 1nle and (R) is the
correct explanafion ‘of (&Y (A) FF1 (R) 3R
T ¢ 3 (A) FH G (R) 81
(b) Both (A) and, (R)"dre true and (R) is not the
correct.explanation of (A)Y T (A) ¥R (R)
T & §I(A) F1 T @ (R) 7 8
(c] AANISrue, but (R) is false/(A) T ¢ afe
. (R’l'ﬂ'?-"f 2l
{d} {A]m false, but (R) is true
\ (A) T B (R) T )

as. (d) |
8. Consider the three relinbility coefficients: (A)
split-half  reliability coefficient: (B) K-R
reliability coefficient: and (C) Cronbach alpha
com

uted in the above study.
= %vﬁ'aﬁ'um TTTER W a6 (A) FHE
(B) K-R

HACEH Ivh
Which one of the fallowin
context?/3%F & URYEA °

is truc in the above
e Frerfetan @ @ w
k=11 ?

(a) All the three reliability coefﬁcmnts would be
same/t1 FAgare-Taa oS WA En
(b) All the three reliabili ncﬁ'c:cms would be
different/dii % STET-3TET
Gt
(c) (B) and (C) would be same, but (A) can be
different(B) W& (C) '{['Tﬁ UF TH e
AR (A) U ST @ w21
(d) (A) and (C) would be same, bul (B) can be
different/(A) T (C) {IU'HEF T HOH
i (B) Ui 3% @ qwW
[Ans. (c) |
99. I the Emjucl-inchnrgt developed a 75-item
version by adding similar items, what would be

the e:pcctcd Cronbach alpha?
afx Wi Tl T e e o
wiarur T 7ﬁﬂamﬁunmta‘1'sm
wwnfae wiTas ST =4 T
(a) 0.700 (b) 0.821
(c) 0.875 (d) 093]
[Ans. (c) |
1. Which one of the lollowing correlation is most

suitable for computing item-remainder
corrclations?

W VT WEEh & uitee g Pattfew |
= o walfus sugs wEHey 22
(a) Tetrachoric Correlations/21 FIfis: WeHay
(b) Phi-Coefficient/¥T$ Tviis
(¢) Contingency Coefficienva st 1uris
(d) Point bi-serial Correlation

|Ans. (d) |
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